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Evaluate ab + 5¢c —d
ifa=3,b=2,c=7,andd=4
A 21 B. 37 C. 73 D. 143
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Sheree is comparing cars. She wants to be
able to drive 330 miles for work without
stopping for gas. Which cars will allow her

to go that far?
Gas Tank .
Car Size Gas Mileage
1 12 gal 31 miles per gallon
2 12 gal 27 miles per gallon
3 16 gal 22 miles per gallon
4 20 gal 15 miles per gallon
A 1and3 C. 1and2
B. 3and 4 D. All of them
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Patrick hit 12 home runs in 20 times at bat.
Which letter best shows this percentage on
the number line?

AS BT c.u D. Vv
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Carrie saved the money she earned baby-
sitting for five months. If she earned
$24.25, $12, $22.50, $15 and $28.50,
determine her average earnings per month.
A. $ 15.10
B. $ 2045
C. $ 2250
D

. $102.25
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Which two lines are parallel?
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Line cand line e
Line a and line d
Line b and line ¢
Line aand line b
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Hal wants to ride his bike 200 miles this
month. So far, he has ridden 65 miles.
There are 15 days left. On average, how
many miles does Hal need to ride each day?
A 14
B. 9
C. 8
D. 4
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Evaluate 4(x*-6) if x=3
A 0 B. 12 C. 30 D. 36
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The relationship between the two lines on
the graph can best be described as

A. vertical
B. horizontal

C. parallel

D. perpendicular
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Which of these is least likely to occur?

A.

Rolling an even number on a 6-sided die

B. Rolling a multiple of 3 on a 6-sided die
C.
D. Choosing the queen of hearts from a

Choosing a heart from a deck of cards

deck of cards
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My flower garden is a square. It has an
area of 1600 ft2. What is the length of one
side of my garden?

A 40 feet
B. 160 feet
C. 6400 feet
D. 1,560,000 feet
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Kari has $35 dollars. Once a week Kari
gives skateboard lessons at the park.

For this job she is paid $12 each week.
How many weeks will it take her to have a
total of $155?

A 6
B. 10
C. 13
D. 16
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Two lines are plotted on the same
coordinate plane. The first line passes
through (-5, -5) and (-3, -3). The second
passes through (3, 1) and (4 2).

The two lines are

y
A
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intersecting, not perpendicular
intersecting and perpendicular
parallel with no common points

cow>

parallel with infinite common points
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The math book is 6 inches wide.
How many centimeters wide is it?
(1inch = 2.54 cm)

A. 1524 cm
B. 12.70cm
C. 854cm
D. 346cm
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School Supplies

Notepads .. 8199
Binders . $5.49
Markers . . $2.59
Pencils $1.89
Pens L. . 8229

The sign shows the prices of various school
supplies. Hans bought some notepads and
pencils and spent $9.57. Which equation
represents this situation?

A.

B.
C.
D

3.88x = 9.57
. 957 -x=y

1.89x + 9.57 = 1.99y
. 1.99x + 1.89y = 9.57
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Thereis a 3 probability that you will have
homework in math class. What is the
probability you will NOT have homework?
1 2

A0 B - C. - D. 1
3 3
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Triangle ABC has been rotated 90° to form
triangle AB’C’. How does the area of the
image compare to the area of the original
triangle?

A

The area doubles.

B. The areais smaller.
C.
D. The area is the same.

The area is larger.




